(&)
@ ﬁ&% ? = RARRER

BE: BiCh:_ 237
A+ —18x=0 X+ —56x=0

10x° — 59x% — 15x+ 54 =0 5% + 54x% + 108x — 216 = 0

X+ 108 +24x = 0 ¥ —3x% = 24x+80=0

7 — 62 —28x+24 =0 90 — 622 +93x—40=0

X+ 107 +9x =0 X +3x%—6x—8=0
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= RAEXEMH

X+ 7¢ —18x=0
x=2,-9,0

10x° — 59x% — 15x+ 54 =0

9
x=—,—1,6
10

X+ 1027 + 24x = 0
x=—4,-6,0

T —6x* —28x+24=0
,—2.2

x:

e

X+ 108 +9x =0
x=-9,-1,0

HIZh: A7

X+ —5x=0
x=-8,7,0

5¢° + 54x% + 108x— 216 = 0
6
Z,—6,—6
5

x:

X —3x>—24x+80=0
x=4,-54

O — 62x% +93x— 40 =0
8
R} 155
9

x:

X +3x—6x—8=0
x=—4,-1,2
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